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3 b slaaal o @ Joadl 3l SUA ope Lo T pisiiigy L cadly 24

MIN_EXCLUDE[Latitude]

o)

o S o b O sy 1(@ll) o)l dax e L) sl Bk 331 b MIN_DURATION [Latitude]
Jed) 3

AT iy 1 Al b g 3370 e (2 30zl NON-GSO Flsed! o s il MAX_CO_FREQ]Latitude]
o) 3 mpull U e Lo

(Ikm2) <3 s 3 el NON-GSO auwz, VI wollastl sus Jauwgie ES_DENSITY

(kM) 25t} enas S5 o BT STy L) Lavgza ES_DISTANCE

(<) 0L) NON-GSO iz, Y1 el o e bshast sk 3391l ES_LAT_MIN

(b)) NON-GSO &)V el 5 ¢ bobas sl ¥l Ad ES_LAT_MAX

:L;i L«f&.ﬁ:@ - XML s 3 Oladal) oda 345

<non_gso_operating_parameters es_lat_max="+90" es_lat_min="-90" es_distance="200"
es_density="0.00001" c_name="orb_id" b_name="azimuth" a_name="latitude" high_freq_mhz="F2"
low_freq_mhz="F1" param_id="1">

Jle EREN]] Skl of Jaod) St
12345678 - T2 34 ntc_id
My satellite network - EIDN sat_name
1 - e e param_id
10 000 MHz o950 433 low_freq_mhz
12 000 MHz dorgdpe 15> high_freq_mhz
e s - {latitude} range —0 to +90 degrees a_name
Cod) - {azimuth} range 000 to 360 degrees b_name
orb_id - {orb_id} range 00 to 9999 C_name
0,0001 kmn2 orgdpe 5> es_density
200 km dogd3e 35> es_distance
90— Sl L A9 35> es_lat_min
90+ byl dorgdpe 43> es_lat_max
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L 2l Loty orb_id st il OF S MIN_EXCLUDE o iflis e XML 3ol (s34 cipml I A
MIN_ELEV iiiw ik Of Sy . 2,8l b st V| MAX_CO_FREQs MIN_DURATION o i35 ¥
cly o)l s M
pdsy ¥ biie (Uat 055 Of e Yo Todz erp. gl & 25l nON-GSO 2,1 alad) Lo 01S713] wil sl
.es_distance s es_density oMad!
edrp.s pfd 2.3l 2l SULY 84l b (3 N0N-GSO Jeridl Sledas 32 1
AW ) e non-GSO rad! Slodak XML Cike Jlin 05K & o

<?xml version="1.0"?>

<satellite_system sat_name="MySatName" ntc_id="12345678">

<non_gso_operating parameters es_lat_max="+90" es_lat min="-90" es_distance="200"
es_density="0.00001" ¢_name="orb_id" b _name="azimuth" a_name="latitude" high freq mhz="F2"
low freq mhz="F1" param_id="1">

<min_exclude orb_id="00">
<exclusion_zone_angle latitude="-75">0</exclusion_zone_angle>
<exclusion_zone_angle latitude="-45">3</exclusion zone_angle>
<exclusion_zone_angle latitude="-15">5</exclusion_zone_angle>
<exclusion_zone_angle latitude="15">5</exclusion zone angle>
<exclusion_zone_angle latitude="45">3</exclusion _zone angle>
<exclusion_zone_angle latitude="75">0</exclusion _zone angle>
</min_exclude>
<min_exclude orb_id="01">
<exclusion_zone_angle latitude="-75">0</exclusion_zone_angle>
<exclusion_zone_angle latitude="-45">4</exclusion_zone_angle>
<exclusion_zone_angle latitude="-15">6</exclusion_zone_angle>
<exclusion_zone_angle latitude="15">6</exclusion_zone_angle>
<exclusion_zone_angle latitude="45">6</exclusion zone angle>
<exclusion_zone_angle latitude="75">0</exclusion_zone_angle>
</min_exclude>
<max_co_freq latitude="0">2</max_co_freq>
<min_duration latitude="-50">400</min_duration>
<min_duration latitude="0">1000</min_duration>
<min_duration latitude="50">400</min_duration>
<min_elev latitude="-30">
<elev_angle azimuth="0">30</elev_angle>
<elev_angle azimuth="90">40</elev_angle>
<elev_angle azimuth="280">30</elev_angle>
<elev_angle azimuth="370">40</elev_angle>

</min_elev>
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<min_elev latitude="0">
<elev_angle azimuth="0">20</elev_angle>
<elev_angle azimuth="90">30</elev_angle>
<elev_angle azimuth="280">20</elev_angle>
<elev_angle azimuth="370">30</elev_angle>

</min_elev>

<min_elev latitude="30">
<elev_angle azimuth="0">30</elev_angle>
<elev_angle azimuth="90">40</elev_angle>
<elev_angle azimuth="280">30</elev_angle>
<elev_angle azimuth="370">40</elev_angle>

</min_elev>

</non_gso_operating parameters>

</satellite_system>

pfd/eir.p. i3l B4

non-GSO gl dlogll pfd ¢l 1.B4

pfd ¢L3 1id MHZ s> 2701 sl as¥) ad FregMin
pfd gl b MHZ 545 33500 sl a3V b FreqMax
Jomzedd ror M Bladll 20 ki () By KHZ 8 pFd g3 (3 8)8) (s520mn cllas] o RefBW
o2 9y Wl (30 el 53 sl aliall w13 22 55U (3 53061 Jglakl (3 epfd olal
ol Jlaszol i (Sle MHZ 15 KHz 40) 22 85U1 Jglis 3 cromom o Sllas
{(azel) of X of o} oo 5051 MaskType
tk AR 35BS 6L sk 1 L
non-GSO Ll — | a2l k(i) pfd_mask
2V o Je nON-GSO L) ik o8l Lo - (AL «(X 5D
Jl wl" BJM‘ u‘)ﬁ‘) non-GSO Z\J\.ﬁ.&h o) s o (X ji) o J«é_is\ :‘ajb —
4.4.D6 5,38 3 Call =l L 2
S abidly o sl Lo nON-GSO Bludl Laies oy Jolall b 3 AL 34 -
Sl el e @V b L (XSl o agl) e B ) GSO edll
4.4.D6 5adl (3
Lk L 8l s Bl el sus 2 L
non-GSO 5Ll - (el b LNy pfd_mask
- (El Az

A2V e Je non-GSO Ll ik o)l Lax
5.4.D6 5,24}l (3 2l (ol )5
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non-GSO 348le ey eir.p. ;481 ¢l3  2.B4

pfd g3 Lib MHZ 8ag 53301 sk 3331 A4 FreqMin
pfd iu 4 MHz gy 3370 AL d,,aj;w A FreqMax
g-v.-}\ Sl pe i A dwndl kKHZ du>s elir.p. gL & 8l (st slag] S RefBW

Al 3y el a0l sl alall w13 22 5500 (3 5515 Jolad) (3 epfd wolaad Janzdl
gﬁ’*‘:’ (JL—L\ J-:W' J—" MHz l} kHz 40) 22 saU J}\.,L’.- L} O 2 JU@ f}c 399

2ol Jlaazal
Ble 350 dhe Jlownal Al (3 1 57 NON-GSO 2, Y) 2hask) oo ES_ID
Gy V) ol dpded) Lot o Byglllg o Al ot @Y NON-GSO i)V el i1, 3,03 ES_e.i.r.p. [0][Lat]

.GSO _prsill e iz 1l NON-GSO &) Y) dlastl oo Ladly non-GSO

SNyl s elrp. 38 L3 3.B4

e.irp. gld b MHZ sas 33500 sl 3531 a4 FregMin
e.irp. g3 1 MHZ sas 53701 (sl BV ad) FreqMax
ot Bl e ek U] il KHZ Sd>y eirp. g3 3 i) s sllae] RefBW

D 3y Wsatdl 53700 sl alal) 13 22 530 (3 35,00 Jladl 3 epfd woland faxzod
o (JW e e MHZ 19 kHz 40) 22 6500 Jglior (3 s Blai o8 599

ov NON-GSO  BLdl e 250 &allly o ell L= dNW, noN-GSO  fld) e.ir.p. 5,48 SAT _e.i.r.p.[0][Lat]
.GSO sl Lo a5 nON-GSO L) Lakews

JFl Cledas dee 3] B5

Ll 10l Slogms sl (S8 1l Slades G ) n (3390 ) ) Vs Gy

non-GSO Liladl Ol Oldas  1.BS

LY Olasaly .3 Joudl (3 susl gl e 3lall asladl oI5 non-GSO 2z LUT e dmgll ods ks
:non-GSO Slw I &JWl LoV ) sy o S18Y1 s s

(AW A of 11 ylal) jLus

If the e > 0 and e < MAX_CIRCULAR_E then
{

WarningMessage: setting orbit to be circular from eccentricity = e

Set e = 0 and continue

0 = /2 Eo (HEO) sbiou®yl sl gsxl.,lk\ e er e
If the eccentricity >= MAX_CIRCULAR _E then
{

Ensure w in range {-m, +1}
If (abs(n/2 — abs(w))) > MAX_HELO_DELTAW
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ErrorMessage: orbit apogree not at maximum latitude
Exit

teh b o
MAX_CIRCULAR_E =0.01
MAX_HELO_DELTAW = 1e-5 degrees

) pd L of 5 S0 Lo OF o il (e dl) SLSESU a i) pisns gl 2alai) 3
non-GSO alladl foois Sladas clbel  2.B5
23Ul non-GSO plad) Lais wledas jomd Cpan

MIN_EXCLUDE[Latitude] > 0
MIN_ELEV[Latitude, Azimuth] >0
MIN_DURATION]JLatitude] > 1 second
MAX_CO_FREQ]Latitude] > 0

ES DENSITY >0

ES_DISTANCE >0

+90° > ES_LAT_MIN > —90°

+90°> ES LAT MAX > —90°
ES_LAT MAX >ES_LAT _MIN

aladl Lads Oledaed XML Slikeg iadY)  3.B5

13U non-GSO plladl Lais wladae (oo Gasd)

335 e JSI non-GSO plladl s lalas o sty desast dlis 055 Of .
e ey 335 e SO N0N-GSO pladl Lt Slades 0 degast Hlin 0,5 Of .
Syl gren ST 8502 b i 0655 O bl S5t ot MIN_EXCLUDE S| &l (3 .
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EW!
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((SRS) &5Lad)l B )l VLAY Sl SUL 34 o epfd 22 Lehanzod &) Slodall B sjhl g3l s [
ULy 3426 (3 2omyally 2l NON-GSO ALt 2L 2ol sl ) wilyd o 4 Judd) Sloghas 4 Joddl peiany
5 Yy UL Baels Jalior cny B 2 ISC2 Gy L Ages) )l VLY (oS (3 (SNS) adlad)l olSad) alss

A Jadd) (3 Byose LSy ooyl Jglaor Vg gLl Slaglas 2 S0 (3

Gl Caeg
- dondt
i ady DUy Coy) fanind X
By Bead DUl o g9t DUl 9 el e i X(9) 1l
X(3) g XXX Bisy

i) ol Wj—‘ J.uumf 9
4y he Aol @'ﬂy’ %
(i Gaylo §ylaly 3yLa) o s S

999,99+ I by 999,99 oy Ty wdll o (58 (348 Jim e $999,99 a1 JLe
99 ) Jass 0 o s ol (o (5ot (g4 i e o 99 Ly
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s _beam phase
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! W G UL ¢ g ULl Ay
bl ol RSN RIS Y 9(9) sds ntc_id
value '= Null Uilaze ol OST13] 0 3,4 X s ntc_type

4 [G] GSO sl
s 5[N] non-GSO it
Loy b2 ol [S] 6542 dup)
[T] &kt
) s s 9(8) <3slp)b d_rev
INT ST e e Rl s | ) s OST13 e 848 X 4 ntf_rsn
[N] RR1488 _.zzis
[C] RR1060 sf
[A] 9,1 s/ [D] RR1107 sf
[D] 9,7A 41 [C] 9,6 s
[N] 11,2 o [D] 9,17 s
-AP30/30A f [N] 11,12 4f
[B] 5944 2A ;\),U
[P] 75 6 oLsW -AP30B sf
[N] 8 s -AP30B f
[U] Res49 o
"B0" ded e B2l Em C‘L‘U G ad il d- XX g=x st_cur
7A.9 ssl um H}
Non-geo
gl o gl ! UL ¢ 5 UL Ay
bl i ) d gl 5h) e 9(9) sae ntc_id
Bl ! X(20) = sat_name
orbit
gl o gl ! UL ¢ 5 UL Ly
b i fokall Aol 3541 3 e 9(9) sde ntc_id
bl i U (g kel o3, 99 sas orb_id
value '= Null && value >0 Ssts S el se 99 sde nbr_sat_pl
non-GSO (gl
value !'= Null O ooyl ¢ adll Al 999.99 sde right_asc
) Jlze Yy saslall suiall
value = Null Bl Ll ag) 999.9 sde inclin_ang
sl ) Lo (i Jo
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(eb’) orbit

i)

ol Gt

<L &

UL Wy

value !'= Null && value >0

Y e 8 L) 9(5).99
Bl =T oo o o
FoskSIL s — NON-GSO
lge an km 99999 <Ll
apog exp" 3 "apog" ek
(ob.)\ J.b\)

10% x 1,25 = 125 000 : .

dde

apog

value !'= Null && value >=0

A s e ol 20 4 99
10,3)

1510° e Ao w1 O
T olag 107 blie 25 100 blio

dde

apog_exp

value != Null && value >0

A e o gl S 9(5).99
Bl T o 2 ]
FushSI s s — nON-GSO
e e km 99999 <oLLL
G e Jols S
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(ebaf ki) "perig_exp”s

105 x 1,25 =125 000 :Jts

dde

perig

value '= Null && value >=0

10 3 b
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dde
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S sy suslal) s0aal
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11A.9 3 Glbil > 3
s sl

dde

perig_arg

value = Null && value >0

d@ of i gl 99.99
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& s s km 99 <ol
i) gad oo ol S
51 "op_ht_exp"s "op_ht"
(aU;i

102 x 2,5 = 250 :Jlz.

dde

op_ht

value '= Null && value >=0

w\ &LAJ)W LSM’Y‘ 9}\ 99
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10° Jlie i ans o581 0L
102 s 25 10" bie 1,

L ol

dde

op_ht_exp
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(eb’) orbit

i)

ol G

UL Wy

value !'= Null &&
(value == Y’ || ‘'N”)

alad| ST Lo Gl B X
Sle LUt pisas 1gLad)
[N] andszs ¥ 51 [Y] adll
ol o2yl s S Bl
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WS 35 s JI ol o5 999
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Jlexzal oo Yy el

J2 pelle2l)

f_precess

If f precess == ‘Y’ then value
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Lolie oo,y 3,5L0 Jies 999.99
Ohyes o) WS 3Ll s
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& Lad) dbseal) cclsza)
i 5y Jaas g dd 055
oo Yl (3 aslall suaal

32 llanal) Jlanz

dde
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value '= Null && value >=0
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il ] pef dsb b o
oo Ll i sy 3
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dde

long_asc

If f_stn_keep == Y’ then
value !'= Null && value > =0

Jokall Ja (3 4 pandl ogli 99.9
saslall suan) Job Lok adlly

dde

keep_rnge

Phase

ol

ke gl !

UL ¢y

UL Ly

g ke

SRR 9(9)

dde

ntc_id

(b ke

S gk ool o3, 99

dde

orb_id

value '= Null && value >=0

Ll ke 3, 99

)\..LU (S gumr L}

dde
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value '= Null && value >=0

Bl a1 skl ay); 999.9
S (gtns 3

11A.9 3 Glkil dl> 3
s sl

dde

phase_ang
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Dk LS bl (3 Lalas

pfd_Calc = pfd_Mask + 10log10[ Threshold_Bandwidth / refbw_khz]

ref_bw_khz =40 055 of 2ps Jine gLl & refbw_khz ol Sus S 413
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e.i.r.p._Calc = e.i.r.p._Mask + 10log10[ Threshold_Bandwidth / refow_khz]
(o3 0 ey BY1 e o pall b sy 2ud cllae] g 1 el bt (et erp.y PRd Sl il OF S
(edrp. of pidy a5 ¢13 Je XML Cale IS (5924 OF g
AL 419 e SIS 3 8 dle el
9 I

(asl2) epfd Jori oo pfd dadl ULy 4y

PFD ¢l ‘
non-GSO Jil > )
{Latitude, Table} g ko < (Slx2) Along i s
i " i)
2
2
IR
| {Latitude, Table} 3,
; (Cw) «e+) PFD
> B) (Along «a) PFD
U
>

$.1503-0 9
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10 el

(34sle) epfd J=f o edr.p. dadl OUly duy

a2 elir.p. gls
non-GSO .,

v

. %A - \;._ - - '.
{Latitude, Table} o = (Do) st Bl

v

v

J}-*k
Cibo < (ABW/Ref.BW) 452 49l Lo e.iLr.p.

_ | {Latitude, Table}

A
v

v

S.1503- 10

11 el

(gl ) epfd Jori o0 eciir.p. 42l SULy G

edrp. glé
non-GSO il

v

ko = (D) d)st Al

v

v

{Latitude, Table} Jodo

o < (ABW/Ref.BW) 4y 4y9ly Lis elirp.

v
v

{Latitude, Table}

v

S.1503- 11

1Y XML Gt 31 (3 Bl )l VLY S L) pfd 2wl el s
eyl e OLaiVly I 2920 -

Ladly gl 0 S ads e -

LI B g e -

G LS JUly e DL e g% 32 2l 52 e XML G

<satellite_system>
</satellite_system>

oyl sl e aw OF iy 5)odl) Sl Ao 13 Vs o3 IS ias # o
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tlaaznl e Vlg Rl Bipn Boan o LI pladl B ((sgn T Lo
<satellite_system ntc_id="NNNNNNN" sat_name="NAME">
[Header]
[Tables]
</satellite_system>

gk e S ensy e[l Al 0ds pes s
AU L3 3wyl IS 5 el Gy 225
(dlasl») epfd Jri o pfd g13 2.4

tk WSTpfd plid) dl)l e 06

<pfd_mask mask_id="N"low freq mhz="FI1" high freq mhz="F2" refbw _khz = “BW”
type="Type" a_name="latitude" b_name="B" ¢_name="C">

(5 e kily G
5 Jgdl
pfd §3 dewly s
Jie 34l Soall ol Lol Sl
3 - e e mask_id
10 000 MHz B g2y low_freq_mhz
12 000 MHz B g2y high_freq_mhz
40 kHz BoJ) (s refow_khz
alpha_deltalongitude - {alpha_deltaLongitude, type
azimuth_elevation}
latitude - {latitude} a_name
alpha - {alpha, X, azimuth} b_name
deltaLongitude - {deltaLongitude, elevation} C_name
Zyﬁcmﬁ\yw'“' c)bjay‘fddﬁxz("
<by aa="N">
</by_a>

b o) Aslis B fonzady 2= N abldl 2l Ju.;;ﬂ/c:ﬁ\ Kor o i) Lo
e idad I i S o 3 Rl oty
<pfd c="0">—140</pfd>
tsk Lo pfd 2l daal e 00K g
<satellite_system ntc_id="12345678" sat name="MySatName">
<pfd_mask mask _id="3"low_freq mhz="10000" high_freq_mhz="40000" refbw_khz = “40”

type="alpha_deltal.ongitude" a_name="latitude" b_name="alpha" ¢ name="deltalongitude">

<by aa="0">
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<by bb="-180">
<pfd c="-20">-150</pfd>
<pfd c="0">-140</pfd>
<pfd c="20">—-150</pfd>

</by b>

<by bb="-8">
<pfd c="-20">-165</pfd>
<pfd c="0">—155</pfd>
<pfd c="20">—-165</pfd>

</by b>

<by bb="-4">
<pfd c="-20">-170</pfd>
<pfd c="0">—160</pfd>
<pfd c="20">—-170</pfd>

</by b>

<by b b="0">
<pfd c="-20">—-180</pfd>
<pfd c="0">—170</pfd>
<pfd c="20">-180</pfd>

</by b>

<by b b="4">
<pfd c="-20">-170</pfd>
<pfd c="0">-160</pfd>
<pfd c="20">-170</pfd>

</by_b>

<by b b="8">
<pfd c="-20">—-165</pfd>
<pfd c="0">—155</pfd>
<pfd c="20">—-165</pfd>

</by_b>

<by b b="180">
<pfd c="-20">-150</pfd>
<pfd c="0">—140</pfd>
<pfd c="20">-150</pfd>

</by_b>

</by a>
</pfd_mask>

</satellite_system>

40
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plszal 1S o slaza VU JoSay Joddt oSy ULl 1SS Comd) 8152 3Lzl @it XML 3ol plisizl S
JS e Bgian e Ble 9o D sl 3 epfd ol Bapler & el pfd L3 Sy L dddall § dRL) dad)
LAl & Obaald L2 (x, ) Eo pfd(x,y) o5 L
1Y 3 X o Ao s O (e Lo JS sy

Xi = {X1, X2, .. Xn}

Yi= {1 Y2, - Yo}
oA sl el Caslaal) sda il OF Sy

ol (3 e WST gl (3 ol e nxmpfd e s & ag ol aRke pfd 2 (4, ¥) 3o JSJ s e

1ol JT 4 x4 M\
X x X X1 (x; y) il
pfd(4,1) pfd(3,1) pfd(2,1) pfd(1,1) Y1
pfd(4,2) pfd(3,2) pfd(2,2) pfd(1,2) Y2
pfd(4,3) pfd(3,3) pfd(2,3) pfd(1,3) Y3
pfd(4,4) pfd(3,4) pfd(2,4) pfd(1,4) Ya
fdie (el e A Ao gett el SUL 05T OF Sy
X4 x3 X2 X1 (x, ) i)
- pfd(3,1) pfd(2,1) - V1
pfd(4,2) - - pfd(1,2) \Z
pfd(4,3) - - pfd(1,3) Y3
- pfd(3,4) pfd(2,4) - Ya

pfd(L,1) = pfd(2,1)
pfd(4,1) = pfd(3,1)
pfd(L,4) = pfd(2,4)
pfd(4,4) = pfd(3,4)

Joad) Bl Jo o3 Al i3] Nl ololB) e ails dlavly pfd SIS Jois JoSany @l ods (3

laylaial ol 8342 Aed O plisnnl Ll Wk o Bau2 b

tok WeSTalat) ) e o) slinu NI AR b pdsnd Bad2 i Jgddl (3 1S o8 s cSSTI) e
pfd(2,2) = Interpolate{x,, pfd(1,2), pfd(4,2), X1, X4}
pfd(2,3) = Interpolate{xs, pfd(1,2), pfd(4,2), X1, X4}
pfd(3,2) = Interpolate{x,, pfd(1,3), pfd(4,3), X1, Xa}
pfd(3,3) = Interpolate{xs, pfd(1,3), pfd(4,3), X1, X4}
i Bewdib pfd BUSY Gl oUT 3301 i & ol @) Jlesl is pid gLl JLSaa) s o) - Ssy
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42

(34sLe) epfd J=f o edrp. g3 3.C4

P AU ) (Baelo) eirp. plB Al dos

<eirp_mask_es mask_id="N"low freq mhz="F1" high_freq mhz="F2" refbw _khz = “BW”
a_name="latitude” b_name = “offaxis angle" ES ID = “—]*“>

(6 Jeid) Ll G
6 Jauk!
non-GSO 42,1 daseell eir.p. g13 dowly Gud
Jis EREA]] ool of Jaod) Szt
1 _ e s mask_id
10 000 MHz Bl 79550 low_freq_mhz
12 000 MHz Bl 79350 high_freq_mhz
40 kHz B g2 refow_khz
latitude - {latitude} a_name
angle - {offaxis angle} b_name
12345678 — C.?w e ES_'D

-1 if not specific ES

e e )02 Llgd DD, od pp lio gme 2pe L (STl £ e
<eirp b="0">30.0206</eirp>
Lasgy eiirp. gl asls 0,5 of ras
tk b (Belo) einp. gl Akl e 056 cade el

<satellite_system ntc_id="12345678" sat_name="MySatName">

<eirp_mask_es mask_id="1" low_freq_mhz="10000" high_freq_mhz="40000" refow_khz = “40”
a_name = “latitude” b_name="offaxis angle", ES_ID=-1>

<by aa="0">

<eirp b="0">30.0206</eirp>
<eirp b="1">20.0206</eirp>
<eirp b="2">12.49485</eirp>
<eirp b="3">8.092568</eirp>
<eirp b="4">4.9691</eirp>

<eirp b="5">2.54634976</eirp>
<eirp b="10">-4.9794</eirp>
<eirp b="15">-9.381681</eirp>
<eirp b="20">-12.50515</eirp>
<eirp b="30">-16.90743</eirp>
<eirp b="50">-18.9471149</eirp>
<eirp b="180">-18.9471149</eirp>
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</by_a>
<[eirp_mask_es>

</satellite_system>

ITU-R S.1503-3 i

(V5! o) epfd Jxf o0 eirp. g8 4.C4
P K (Blged) ) erp. L8 Al G dn

<eirp_mask_ss mask_id="N" low_freq_mhz="F1" high_freq_mhz="F2" refow_khz = “BW”
a_name= “latitude” b_name="offaxis angle">

(7 Syl iy
7 Joud
non-GSO 5LJ e.ir.p. éLB Aol o
Jle 34l ol 5l Lot St
1 - e s mask_id
10 000 MHz B g2 low_freq_mhz
12 000 MHz B g2 high_freq_mhz
40 kHz B g2 refow_khz
TN Es - {latitude} a_name
Ll - {angle} b_name

rie s Bys2 Ulad e, o e i Ao (63 2 Lo U 05K # e

<eirp b="0">30.0206</eirp>

Zz

Lassy e.ir.p. &L-J:J\ L2l s of s

tk b (Blad) ) idirp. 1S alael e 00 adeg

<satellite_system ntc_id="12345678" sat_name="MySatName">

<eirp_mask_ss mask_id="2" low_freq_mhz="10000" high_freq_mhz="40000" refow_khz = “40”
a_name = “latitude” b_name="offaxis angle">

<by aa="0">

<eirp b="0">30.0206</eirp>
<eirp b="1">20.0206</eirp>
<eirp b="2">12.49485</eirp>
<eirp b="3">8.092568</eirp>
<eirp b="4">4.9691</eirp>
<eirp b="5">2.54634976</eirp>
<eirp b="10">-4.9794</eirp>
<eirp b="15">-9.381681</eirp>
<eirp b="20">-12.50515</eirp>
<eirp b="30">-16.90743</eirp>
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<eirp b="50">-18.9471149</eirp>
<eirp b="180">-18.9471149</eirp>
</by_a>

</eirp_mask_ss>

</satellite_system>
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D ¢!
non-GSO S\SKad! oF Sl jamdl doa

dadls D1

Grkd) Jee  1.D1

S dlomiy OF mdatey sl gl ol 0 (SRD) 2t pl) lllatl) 82y o e ad 98 el 1s 0 230
AR 35BS sgdm by By LY 4 diS nON-GSO pla (sf 0713 b Ol 3 &gl )l SYLaY
N of (epfd) a8

11 S @ sl gl e dlad algs M a2 ) LeSans OF

tladas ogllal) o il ad (1

sy SO Ten Y1 AL dwdin pad @

Alazs S sead) ae il amdy epfd Slilas] Ol (3

idsdt 2.Dp1

I ) plsial il s o

i)l da2 e epfd, g Sl ¢ ble IS pfd pdszasy «pfd ¢l3 4 non-GSO bl IS” tepfd;, Lo~
sl M )l ¢ cepfd) iy o dad! g danll bl e dlader ol s Bl da ) Sy (GSO pls (3
) ol sl 13 dons sl ilsd (3 Lede oseaidl d,

pldsiisl NON-GSO  fl £ dgorgs P P JSs .non-GSO i)V et - cush desl 2N epfd ooleo
GSO bl s epfdy wlus - S&y L8342 euirp. 2850 Llie dndos 8,08 Wl by (A8, Ul s aslys
epfs qiy o sl g Al Ol o dlade aa s Al ods Sy AT dke ST irp. ¢S e
o) ol Jsadlly 15 s 8, Al gady i) Vs Bl (S e

e et 0 Sy asliad 2k ST elinp. gl r GSO ailiad) dlad) wie epfds ol S% epfdis lom
O 3y 5 A agudhly ) s B)lie (S8 F e cepfths g o Jsead) > Bl Sl e dledes e
A o Jsdll

Amgin 5T UL LAY 090 wilisty & iy o0 OF b (oY (8K el Dlenjl o 22 el a2y (08
igms gl

Ll iz 3.D1

(W ALY D sl s e

Ladas ool ohaadl Lad D2 -

iz SO T W is 04 :D3 o]

Banll Sl sdey Bandl B3 v Ol DA i
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9l me 33ledll 2>y epfd wlela>| Ol D5 ol
epfd| awjyle Caoy  :1.D5 pdl
epfdt apls> Croy  :12.D5 pud
epfdis &ej)ls> ooy :3.D5 gl

S ez U5 (3 s epfd bl r (sl SIS (3 Blomzll lajylsdly 2ol o) Gl Loy 1D6 aund
o2 sl Jsdll 1 L Jeosl) asllal) Slleally Sl sl BLl foolis a2 :DT7 andl)
w35 ab ) eds Bphaan 3 psn ) e Redall il e oSl 3 Sz OF 3,
dolal 34.dllg LD Y1 4.D1
tsn epfd Slsbax] A (3 ple a8 &
dB0,1=Ss  Jolsdll o
Wl oo o3y 1 ) 2sj 5 ST epfd o8 105 2 3.1.D7 8,380 (3 Byuosl ol njyls mo B,
B 0,1 & sl B 055 o2
A4D6 A 3 ) Chodl e Xy o 2 Q) Bl S sl gl Ol (Sl Lt ¢ g

et IS el plisn) (S e = ) o) e il ods (S b 13]y i) 2 Bl plasenl,

e L sous sucla & Ol bl e sas
0Lsly 1e-6 :GSO I (3 L=V bla y susll)

.0Lol) 1e-6 g e e olislas ke L) bl cé\j,a LA (P

igrigdly UL dueld  5.D1
Lsé sl (SRS) &slad) dsslll oYLaY wlls Sl 4l e ol ULy Glegs¥l i) Lld dxh of s
Clay epfd 39> Ciad DLL obsy B aol)l oVlas¥l coS slge 8 Sliab (bl aslg o
o o)) oladly GSO Plsdl wlse Jio colodall an jaasll Mol Cllan of Sy ollshl pnS

Ldis Callaad! OMAL W D2

22 ledl Corge OMaES! 1.D2

NoN-GSO plas 2 &ks (3 Ladeds oorlll oBaadl o b s 22 55U Comgt oMzl o (6T (8 sl V1 pLell e
) ) 3 Bl epfd 5y

LOOxES gT )| Gyl e e celirp. fT pfd s ¢l i3l Sla U’Q (l 13/ 9 col£) L*;T Q39

Lol Al wud -
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3 e wldall e il Slegest s IS tallad) Ladd Jaisr 3 sl a il Ll gyl ag
Al Lz Jaflasy L oley pdfeirp. aedl e 345 desest S ahais Juas ey e (il

Lis pan Bde (irgdpe ded dsl 136 LimitsAPI 390! {date «freqg_max cfreq_min} EVAPY J.Q pdsledy
2l e 3sY) Wb W alais

For all unique Satellite {freq min, freq max, date} in non-GSO notice
{

From LimitsAPI request all FSS epfd(down) limits for {freq min, freq max,
date}

For all unique epfd(down) limits returned

{
Set FrequencyRun = max (fnin(mask), frin(limits)) + RefBW/2

CreateRun:
Direction = Down
Service = FSS

Frequency = FrequencyRun
ES DishSize = From Limits API
ES GainPattern = From Limits API
epfd Threshold = From Limits API
Ref BW = From Limits API
}
From LimitsAPI request all BSS epfd(down) limits for {freq min, freq max,
date}
For all unique epfd(down) limits returned
{
Set FrequencyRun = max (fnin(mask), frin(limits)) + RefBW/2
CreateRun:
Direction = Down
Service = BSS
Frequency = FrequencyRun
ES DishSize = From Limits API
ES GainPattern = From Limits API
epfd Threshold = From Limits API
Ref BW = From Limits API

}

For all unique ES {freq min, freq max} in non-GSO notice
{
From LimitsAPI request all epfd(up) limits for {freq min, freq max, date}
For all unique epfd(up) limits returned
{
Set FrequencyRun = max (fnin(mask), frin(limits)) + RefBW/2
CreateRun:
Direction = Up

Frequency FrequencyRun

Sat Beamwidth = From Limits API
Sat GainPattern = From Limits API
epfd Threshold = From Limits API

Ref BW = From Limits API
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For all unique Satellite {freq min, freq max, date} in non-GSO notice
{
From LimitsAPI request all epfd(is) limits for {freq min, freq max, date}
For all unique epfd(is) limits returned
{
Set FrequencyRun = max (fnin(mask), frin(limits)) + RefBW/2
CreateRun:
Direction = Intersatellite
Frequency = FrequencyRun
Sat Beamwidth = From Limits API
Sat GainPattern = From Limits API
epfd Threshold = From Limits API
Ref BW = From Limits API

7A9 83U 2.D2
L gl e oS 0S5 dally polabl ol i) (35 el viay TAQ 53l Comgt o Skial) 2l

If the selected earth station meets the criteria in Appendix 5
{
Get the frequency range of the selected ES (fnin, fmax)
Get all non-GSO networks in the SRS that overlap that frequency range
For each non-GSO network returned
{
Query Limits API with the selected ES (fnin, fnax)
{
Get RefBW from Appendix 5 Data
Set FrequencyRun = max (ES fnin, Mask fuin) + RefBW/2

CreateRun:
Direction = Down
Frequency = FrequencyRun

ES DishSize = From ES filing

ES GainPattern = From ES filing
epfd Threshold = From Appendix 5
Ref BW = From Appendix 5

7B.9 3LJ! 3.D2

) o oMzl 055y sy pulall L sl sl (35 Jeddl ez (TBL9 S Corgs odaaal) A,
rJu

Get (fwin, fmax) from non-GSO notice

{
Get all ES in the SRS that overlap that frequency range

For each ES returned

{
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If the earth station meets the criteria in Appendix 5

{
Query Limits API with ES (fain, ZIfmax)

Get RefBW from Appendix 5 Data
Set FrequencyRun = max (ES fnin, Mask fuin) + RefBW/2
CreateRun:

Direction = Down

Frequency = FrequencyRun

ES DishSize = From ES filing

ES GainPattern = From ES filing

epfd Threshold = From Appendix 5

Ref BW = From Appendix 5

Tswdl Yol dwdia D3

A e 3l o)) Sladl e S wsl)l ) e 22 350 (3 (epfd) 2815 8l 335 BUS spdm 3bs
Sl e 25 g B2 Y1 AR B e My GSO sl e ek U3 52 oY Uiy oy (GSO) 2V
i)l 2a2 Ly GSO Jld oo dse & (WCG) Ty AU Brving . giondl 221 s Slowdibl odn 87200 1
s 22 83U (oo epfd s9ud il e 33>l NON-GSO plas jamd i plsiiny GSO Sl dnpd dpded Lo 5
Sl B3 3 L sV il ek 22 55U (g6 epfd 3544 265l NON-GSO gl s L] 2enidly Ly,

3.AL 524 (3 558 LS 5302 GSO s

Ay 058 Gl (WCGA) [l A Gdin jlym 2y cioaylys Alanlyy WCG &bl Ll o
Lty .=y Jel) epfd e el d=dd non-GSO ablul aylull wldall il ) pfd/ e.ir.p. axsl
05 OF w3 dewdid) Ll o ie cdomy sl epfd ded ol s U Ssiaze Slowin clilin 0,55
LY gy o gl ds ) Jlael el wn ol o dipte deed SY Ay e epfd dad el U
U BB eV g i (epfid) 28U §jul 35 BUST e Slgies ol SLoIBY sds brisy

ot Bl Gl 055 OF pky Liges NON-GSO Jldl (@8ll) 10 25502t 1SS s WCGA 2plsd! 55y

9 e Bl AT 2508 plisizaly Bl 4y e Csllall ol s e Bl sBss o S cJlall Lo &

Uy 3302 2s) sz A 23U e A8 D5 ) (3 Csosh) epfd BUSH Gl 8,2 pisian OF (K6 (2l

AU 2l & ey JWCGA eyl (3 alite o Uiz 050 cpme o Lot ] Bl oo Ly (s U1 Jolal) Lo 013

oo ey Jps B epfd s JsT e ey 1)) NON-GSO. Bled) (1] deeddly (Bl Dl 2y 23L] A ]

om Jslll b G

(WCGA Zsjyls= (3 alaid) S 558 plisznl 30l ol st ) s Lakie nON-GSO Ll Jshall Lo -
(0= (ol ol ) SIS ety ) =t ST () plbssnaly (skall ot (2l Loy ] usdly

3skaitly Lol ()l 3l pltszals 302 2l Lax () 31 NON-GSO Bl b s (sl Jglall Jast -
alall (63 BT (ay alisaaly (Jshl Lot (o all dasty () Jsmally chial) dliaall &y sest) 22300 2005

tdshall Jas (3 OVt s ol 12 ISCadl (g
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12 e
BSTwall ojg slubell z3903 8161 WCG Tyl Dot dsstin b Jolalt a5 Lo
o2 L= (3 non-GSO il

----- 7355 Pl WCGA a3
/ abad sl

GSO o)l 12 2%
WCGA Qﬁ/,/’

GSO o)l a2 2%
EPFD dais &

GSO il iy
WCGA

GSO Lo giss
EPFD akasi (3

—————

S.1503- 12

WCGA awjledl 3 o) 35,31 dlaskly GSO L) By boval Jshll st (3 MV s G5 ey st
oS ) Bl e ol e epfd Aed JoT & e U pfd gLl 53 nON-GSO Bl San &t
ani 3 Al Balad) pusnnd il el sl (o el bt ddl SIS diey L5V o))k (3 sda epfd Aed 3
Jebll s Clus 3 58 b O3
o Byl VLAV pllad (3 53l JUBYY Lae¥) (3 dsl OV sz 8 Bosdl) odn (3 530001 el OF LSy
Bl o e Wik oa 22 B Corgs epfd 281K 5l 335 BUS 3g> a2l O) o Bms Job byl
GSO sl o a5 M sl Vls GSO ips) VI ollasti
Al el WCGA asjylodl (3 sl ooy oo id) slaxl (ot 2aslal)l LUl s mylis e iV e L Yo
Eod) Uiy gy 000 JMES lshast 0 85Se Em Bgiany . AV Rodll o2 gadl e Yot s 0.1 3]
0Ll 165 e BT Lgll (3 G4 05 Leke 223N
epfd| Tswd) Vil dwkin  1.D3
oM ddl 1.1.D3
L Ayl oM
e gllall pfd ¢l3 :pfd ¢ls
oA st NON-GSO Ll GSO sl if aysly couo[lat]
non-GSO Ll Lass gl i :h
oandly 2l Lo et NON-GSO L) ¢yl &gy 5T ceolat, az]
non-GSO sl jlue wldxs {3, e, i}
oS Loz G5 (3 & i,V dla) Slades :ES

(3lasls) epfd ol4Y (WCG) fsw¥1 ALh) Gviin Wild Bl il dn iy
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335 S Jﬁj t\..p 335 (S J_Q idasl) odn )\JQ oo pfd ] @ 337l e dal NRW| Semy Jlax=| Loy
o) Ulgy ) plad) Jrds Sladas of {i @ @) r B3dete Slosesy aiki pfd aasl Sia 0,5 O S dLo
Slegedtl ads o S s Blaall LSS a 1(NON-GSO JLdl Mty il 5 GSO (3
aibil] 2ol Ble Sl ae NON-GSO FLdl r e & LS (0, ) &gl 3 ol ) Ty AU dwitin dizy
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CheckCase
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WCGA_Down:
Set WorstEPFDBin = -9999

Set WorstAngularVelocity = +9999
Identify €o,min = minimum value over all values in the g[lat, az] table
For all satellites in the order listed in ITU DB

{

Determine PFD mask to use for this satellite
If this PFD mask has not been checked so far then or this satellite uses
a different op[lat] then
Call GetWCGA Down (PFD Mask, oao[lat], e&l[lat, az], ES, OrbitParams)
End if

}
Next satellite

GetWCGA_Down (PFD Mask, aol[lat], &/[lat, az], ES, OrbitParams) :
StepSize = 0.1°
If (i = 0)

{
WCGD_CalcAtLat (latitude = 0)



Else
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LatNumSteps = RoundUp (i / StepSize)
For n = 0 to LatNumSteps inclusive

{

}

latitude = i * n / LatNumSteps
WCGD_CalcAtLat (latitude)
If (n > 0)
{
WCGD_CalcAtLat (-latitude)

WCGD_CheckExtremeCase (0, 0 = +n/2}
WCGD_CheckExtremeCase (0, 6 = -n/2}
WCGD_CheckExtremeCase (+1, 0 = +m/2}
WCGD_CheckExtremeCase (-1, 0 = -n/2}
WCGD_CheckExtremeCase (+1, 0 +1/2}
WCGD_CheckExtremeCase (-1, 6 -n/2}

WCGD_CalcAtLat (latitude):

Locate non-GSO satellite at latitude
Calculate height of non-GSO satellite

If height of non-GSO satellite < minimum operating height then

Calculate ¢o for elevation angle €p, min and radius r

WCGD_CheckCase (latitude, 0 = 0, ¢ = 0)

NumPhiSteps = RoundUp (¢ / StepSize)
PhiStepSize = ¢o / NumPhiSteps
For ¢ = PhiStepSize to ¢o inclusive in NumPhiSteps steps
{
ThetaMin = -m/2
ThetaMax = +3m/2
If the PFD

is also symmetric between east and west

{

}

NumThetaSteps

{

}

WCGD_CheckAlphaPhiCase (latitude, ¢, 0, RHS)
WCGD_CheckAlphaPhiCase (latitude, ¢, +1, RHS)
WCGD_CheckAlphaPhiCase (latitude, ¢, -1, RHS)

ThetaMax = m/2

0 = ThetaMin + ThetaStep*ThetaStepSize

WCGD_CheckCase (latitude, 0, ¢)

If the PFD masks is not symmetric then

{

WCGD_CheckAlphaPhiCase (latitude, ¢, 0, LHS)

max (16, RoundUp (2nd/PhiStepSize))
ThetaStepSize = (ThetaMax-ThetaMin)/NumThetaSteps

For ThetaStep 0 to NumThetaSteps inclusive

54

return

mask is symmetric in Deltalong or Azimuth and elevation table
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WCGD_CheckAlphaPhiCase (latitude, ¢, +1, LHS)
WCGD_CheckAlphaPhiCase (latitude, ¢, -1, LHS)

}

WCGD_CheckAlphaElevCase (latitude, 0, RHS)

WCGD_CheckAlphaElevCase (latitude, +1, RHS)

WCGD_CheckAlphaElevCase (latitude, -1, RHS)

If the PFD mask is not symmetric then

{
WCGD_CheckAlphaElevCase (latitude, 0, LHS)
WCGD_CheckAlphaElevCase (latitude, +1, LHS)
WCGD_CheckAlphaElevCase (latitude, -1, LHS)

WCGD_CheckCase (latitude, 0, ¢):
Convert (0,¢) to (az, el) in the satellite reference frame
Create line from non-GSO satellite N in direction (az, el)
Identify point P in which line intersects Earth
Calculate the latitude of P, lats
If Absolute(latp) > 81.2 degrees then exit this function
If late < ES LAT MIN then exit this function
If late > ES LAT MAX then exit this function

If number of non-GSO satellites that operate at this latitude is zero then
exit this function

Calculate the (aznsso, €lneso) of the non-GSO satellite as seen by the ES
Find the nearest latitude to laty in the gg[late, Azngso] table
At point P calculate (a, X, Along) angles wrt point N
At point P calculate AngularVelocity using methodology below
Calculate PFD from mask, latitude & (az, el, a, X, Along)
Calculate G(a) and G(og[late])
If ((a =2 oap[late] and elngso = €ol[late, AZngso])
or G(a) > min(Gpax —-30 dB, G(og[late])) ) then

Calculate EPFDThreshold from latitude of point P on the Earth’s surface
Calculate EPFDMargin = PFD + Grei(a) - EPFDThreshold
Calculate EPFDbin = EPFDMargin/BinSize
If WorstEPFDBin < EPFDBin
{
WorstEPFDBin = EPFDBin
Worst AngularVelocity = AngularVelocity
Store this (N, P)
}
Else if (WorstEPFDBin = EPFDBin &&
WorstAngularVelocity > AngularVelocity)

WorstAngularVelocity = AngularVelocity
Store this (N, P)

WCGD_CheckAlphaPhiCase(Latitude, ¢, Sign, Side):
Set O range according to side to check (left or right)
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If bracket 6o = 0 then
{
Use binary search to iterate on 0 until WCGD_GetDeltaAlpha(Sign, 0, ¢)

WCGD_CheckCase (latitude, 0, ¢)

WCGD_CheckAlphaElevCase (Latitude, Sign, Side):
Set 0 range according to side to check (left or right)
If bracket 6o = 0 then
{
Use binary search to iterate on 0 until within le-5 radians
{

For each 01

{
Call WCGD CalcPhiFromThetaElev (0i) to determine ¢1
Call WCGD GetDeltaAlpha (Sign, 0i ¢i) to determine Sai
}
} selecting O that brackets d6a = 0
WCGD_CheckCase (latitude, 6, ¢)

WCGD_CalcPhiFromThetaElev (go[lat, az], ThetaTest, PhiMax):
$0 = 0
¢1 = PhiMax
Use binary search to iterate on ¢ until within le-5 radians
{

For each ¢i

{
Call WCGD CalcDeltaElev (ThetaTest, ¢1i)
}
} selecting ¢ that brackets 6g = 0
Return ¢

WCGD_GetDeltaAlpha(Sign, 0, ¢):
Convert (0,¢) to (az, el)
Create line in direction (az, el) from non-GSO satellite
Identify point P where line intersects Earth
Calculate latitude of P, late
Determine exclusion zone size at this point, aol[late]
At point P calculate a
deltaA = Sign*aop[late]
Return a - deltaA

WCGD_GetDeltaElev (0,¢) :
Convert (0,¢) to (az, el)
Create line in direction (az, el) from non-GSO satellite
Identify point P where line intersects Earth
Calculate latitude of P, lats
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Calculate (aznsso, €lngso) 0of non-GSO satellite as seen by point P
At point P calculate gl[lat, az]

Return elncso - & [lat, az]

WCGD_CheckExtremeCase (Signq, 0):
Set latitude range according to sign (north or south hemisphere)
If bracket 6o = 0 then
{

Use binary search to iterate until latitude range less than le-5 radians

{
For each test latitude, Lat

{

Call WCGD CalcDeltaAlphaFromLatElev (Lat, Sign, 01) to
determine dai and correspondin§-¢i
}
} Selecting latitudes that bracket da = 0
WCGD_CheckCase (latitude, 0, ¢)

WCGD_CalcDeltaAlphaFromLatElev(Latitude, Sign, 0):
Set satellite at Latitude

Get ¢ using WCGD CalcPhiFromThetaElev (go[lat, az], 6, PhiMax)
Calculate da from WCGD CalcDeltaAlpha(Sign, 6, ¢)
Return da, ¢
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Lk WS Baelo) epfd U (3 (WCGA) TsweV1 AU deitin 0l
WCGA_UP:

Calculate ¢ps from e&zoc

From ¢ss calculate Yss
If ES from density
Call WCGA UP General
Else
If non-GSO satellite repeats
Call WCGA UP SpecifcES Repeating

Else
Call WCGA UP SpecifcES NonRepeating
Endif
Endif
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WCG _Up_General 3.3.2.D3
28 Il 3 e 58 LS Aeial) GSO Bl &3y J# e bl Al ) S

28 e
GSO JLd! &gy Jume 8 Cond)

&,
CA)

((I) ©) ) Bydnn

GSO Ll 43, Jz

Lo e Bt baies
NI Bl ol S50
€ = gcs0 sl GSO ] ¢l

S.1503- 28

10Ul e o2 LS (9 Q) J# (3 Gl oo
WCGA_UP_General:
CheckCaseUpGeneral (0, 0)
NumberOfPhiSteps = Integer (Degrees (¢o)/ 0.1)
For PhiStep = 1 to NumberOfPhiSteps inclusive
¢ = ¢o * PhiStep / NumberOfPhiSteps
ThetaStepSizeDegrees = 0.1 * ¢o / ¢
NumberOfThetaSteps = max (16, Integer (360 / ThetaStepSizeDegrees))
For ThetaStep = 0 to NumberOfThetaSteps-1 inclusive
0 = radians (ThetaStepSizeDegrees * ThetaStep)
CheckCaseUpGeneral (0, ¢)
Next ThetaStep
Next PhiStep
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CheckCaseUpGeneral (6, ¢):

Convert (0, ¢) to (az, el) at a GSO satellite set at longitude = 0
Use (az, el) to create line from the GSO satellite

Calculate the intersection point of that line and the spherical Earth
Calculate the (lat, long) of the non-GSO ES at the intersection point

Check that the latitude is in the range of the non-GSO system i.e between
ES LAT MIN and ES LAT MAX

Check that the N (lat) > 0
If the latitude is ok then

For this (lat, long) calculate the geocentric angle %
For the GSO system’s beamwidth, calculate the Fs72 (%)
Call CalcMinOffaxisAngle to calculate ¢ for this location

If find a minimum offaxis angle then calculate the EPFD(up) using:

2
EPFD (up) = EIRP(¢, lat) + 1010g,o(NUM_ES) + 10log;o(Neo (1at)) + (2£5)" Fyy, ()

100
If this is the highest EPFD(up) then store this value and (0, ¢)
Endif

16.3.2.D3 5,241 (3 53y NON-GSO pllaill e box 2l Ol aiy b OF LSl

CalcMinOffaxisAngle (non-GSO ES lat, long)
Calculate the (azesso, €cso) of the GSO satellite as seen by the non-GSO ES
Determine the radius Ry,,+ of the non-GSO satellite when its lat = +1
Determine the radius R,,- of the non-GSO satellite when its lat = -1

If Rn,+ Oor Rpy,- are below the minimum operating height then determine the
latitude of the non-GSO satellite when at this height and use this instead

For each of {Rn,+, Rn,+} and {lat:, lat-}, calculated the {B:, PB-} angles and
associated non-GSO satellite positions identified as (a, b) in Figs 24-26
For each of the {B:, P-} positions, use spherical geometry to derive points

(c, d) which have angle at the ES of oo along the lines to point (a, b)
respectively

For each of (a, b, ¢, d) points, calculate the (azimuth, elevation) as seen
by the ES

Set the MinimumAngle to be +9999
For each of points (a, b, c, d):

If point is within {B:, B-} range and at least oo away from GSO satellite
and above the gy(lat, azimuth) then

{

MinimumAngle = min (MinimumAngle, angle for this point)

}

Next point

If {B+, PB-} bracket the GSO arc and the elevation of the GSO satellite is
less than the minimum elevation angle for the GSO satellite azimuth then

{
MinimumAngle = min (MinimumAngle, max (0o, € [Lat, Azeso]l - €aso))

}

Return MinimumAngle or if not found, an error code
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WCGA_UP_SpecifcES Repeating 4.3.2.D3
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BU gL Y1 dgly 3o NON-GSO &z Y1 Alameell Jsball Jast oy Jlall Lo (3 puadl 30! Sin 05 -
.GSO lall (EOC) ki

(00 < 0tp Bl 3302 szl bt > 05T Lais nON-GSO Ll 52 non-GSO i)Y skl s ) -

£ <goflat, az] 3sY1 b O3 Lesli) Ayl 06T Ladze NON-GSO Jilud! £ NoN-GSO ae, Y dlastl s - -

i Jersl e Y 3331 A 095 non-GSO Ll 05 -

Al ga e o el b e 2501 2k (5 Of Sk 5N non-GSO sl s -

SUEEWSHICK R SO USPRET Sl PESE Y -

WCGA_UP_SpecifcES_Repeating
Calculate time step according to algorithm in § D4.3
For t = 0 to repeat time of constellation
Update positions of non-GSO satellites for this time step
For each non-GSO ES
If the non-GSO ES lat is <+81.29° && >-81.29° && Nco[Lat] > O then
For each non-GSO satellite
If satellite is visible and above minimum operating height
Calculate the elevation angle & and azimuth
Calculate the exclusion zone angle a
If (¢ 2 g [lat, az] and a =2 ao[lat) then
EPFD (up) = EIRP(a, lat) + 10logy(N,,(lat))

If this is the worst EPFD so far then store this

geometry
Endif
Endif
Next satellite
Endif
Next ES

Next time step
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WCGA_UP_SpecifcES_NonRepeating 5.3.2.D3

s b ) oo bl Olwdidl jan Sy U O ¢ s n0N-GSO . sl g (3, S b o) 2l
e ey (U bbb dime 5 bl e 055w NON-GSO )Y et OY alls (aSle 05w walall Al 3
Aolall Al SELE b any @ nON-GSO 2y Y1 ahd) o (55 LS GSO sl e gl

WCGA _UP_ SpecifcES NonRepeating:
For each non-GSO ES

If the non-GSO ES latitude is <+81.29° or >-81.29° then
Calculate MaxDeltalLong = acos((Re/Rgeo)/cos (ES lat))
NumLongSteps = (integer) (degrees (MaxDeltaLong)/0.1°)

For DeltalongStep = -NumLongSteps to +NumLongSteps
DeltalLong = MaxDeltaLong * DeltaLongStep / NumLongSteps
GSO Long = ES Long + Deltalong
Calculate (az, el) of ES as seen by GSO satellite
Convert (az, el) to (6, ¢)

Call CheckCaseUpGeneral (6, ¢)

Next DeltalongStep
Endif
Next ES

2 b B sdadl 6.3.2.D3

ihst| wg b Skl OSU Wad (50080l e ((Baslo) epfd LS ISy (uslo) WCG wdidl Ol s
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s LS ez, W Al 4] ey ) el pis)) Zgls ales alis L) gLl e el b (e Blizs) Ss
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H(a) B 2 (p) 2 IV e S coValall ek Jlarzaly
Latmin = _ ep

e U ) a1 of ol ozl 880 Cavas 3 @‘y\ OF ) adasY) (1) adly &5 3 o

e=0
o =270°
NGSUE
. ,.4_@4-'"' \a,gj\j HO)
e>0
o =90°

ro) Gkl el da
Latmax” = —Latmin
Latmin” = —Latmax

tg WS Japaclly OUIslal) e ((Jlananl (515 Il &) Lo S OVl sl e 01S713),
La.tmax =0
Latmin = -6

epfdis (¥ Jdl Lwdis  3.D3

Ml 1.3.D3

s bl Ll eirp. ¢l3 :SS_eirp
GSO Lol asd 8)0a)l Cavai d>d :0adp
GSO pllail) ¢Lis)l a5 ET
non-GSO szl jlull wldes 80,8, Q,0,v
o 2.2.D3 5,841 (3 531l ek ARy ball plasenly W) ¢ LN 45059 GSO bl dapdk 8l L s Lzt s
.(34sLo) WCG epfd |1

A 3 {0 e @) aesast JSdadkaad) ST G Bie s Bylhe olie Ol Sadame e b LSS dla 518713

PR

ieyylgdl 2.3.D3
WCGA 1IS:
_from the EPFD limits get the gain pattern to use
From the EPFD limits get the GSO beamwidth Ogads
From ©OadB calculate ¢1, o2
Using the gain pattern calculate Gre:(¢:) for i = 1,2

From ¢; calculate LatBS
If for all satellites i = 0 then
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Worst Case Geometry:
BS.Latitude = 0
BS.Longitude = Latss
GSO.Longitude = 0

Else

Set WorstEPFDBin = -9999
Set WorstAngularVelocity = +9999
For all satellites in the order listed in ITU DB
{
Determine EIRP mask to use for this satellite
If this EIRP mask has not been checked so far then
Call GetWCGA IS (EIRP mask, 1)
End if
Next satellite
}
If no solution has been found then
{
Convert (0=1i, ¢=¢1) to (az, el)
Using (az, el), create line from the GSO satellite
Put the ES at the first intersection point with the Earth
}
Rotate GSO, BS in longitude to ensure inline event
GetWCGA_ IS (EIRP Mask, 1):
LatStep = i / RoundUp (i) in degrees
For lat=—1i to +i in LatStep steps
{
Set satellite at latitude to calculate r, v
If satellite is above minimum operating height
{
From r, ¢i calculate U
From ¢i, V: calculate Di, 0;:
Try to calculate Along:
In the cases that the geometries are feasible
{
From the GSO gain pattern calculate Gre:(¢:)
From the EIRP mask calculate EIRP (Vi)
Calculate EPFD;
Calculate rgso, Vgso
Calculate 6 of non-GSO satellite as seen by GSO
If EPFDi is higher than WorstEPFD
{
Store this geometry
WorstAngularVelocity = 6
WorstEPFD = EPFD;

Else if EPFD; is the same bin as WorstEPFD

If 6 is lower than WorstAngularVelocity
{
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Store this geometry
WorstAngularVelocity = 6

el 3.3.D3
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cos 0;

cos Along; =
9i= Cos lat;
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(33Y ezl g NI e BT non-GSO sl
1) e GSO Biludlg n0n-GSO Ll mge o e S el > (SO 130

cos(lat)cos(long)
Tngso = Rngso | cos(lat)sin(long)
sin(lat)
cos(long — Along)
Tgso = Rgso (sin(long - Along))
0

Y e 20 NON-GSO JLudl 1) GSO Bl o L ) Lb ablisy )l alaid) 5o syl js2 055 =1 3l 3

Ly O\) = Tyso + )\(rngso - rgso)
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R _ R sing
ngso,2 geo sin quz

Yo=m—@1—0;
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Calculate time step and run time using Npir = 16
If orbit is non-repeating

If number of time steps exceeds 1e8 then:

o Nhit
Nhit -

min(Ncourse:\/ Nsatellites)
Re-calculate time step and run time
NI
! — hit
Ncourse - floor (Nhit Ncourse)

TSéourse =TS' Nc,ourse
Endif

Endif
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0, = 180 — (0, + 6,)

sin 6,
sin 6,

0
D, = 2Dlsin( 32‘“3>

D, = D, cos (180 —6,)

D, = (Re+h)

w\wéﬁ

_, D, /2
4 ¢ = cardan |y (D, /2) sin(180 - 6,)
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